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End Semester Examination of Semester—I, 2015
Subject : ECONOMICS (HONS.)
Paper : II
Full Marks : 40
Time : 2 Hrs

The figures in the margin indicate the marks
corresponding to the question

Candidates are requested to give their answers
in their own word as far as practicable.

Tllustrate the answers wherever necessary
Crdup A
Answer any two out of four questions : 10x2=20

1. Prove that the correlation co-efficient does not depend on
the origin or scale of the observations.

2. Determine 8, 6, and 6; from the following frequency table.

Marks in English Frequency
10-19 8
20-29 o1
30-39 15
4049 17
50-59 12

- 60-69 7
Total 70




(2) ' ' (3)

3. What tests are normally used for judging the goodness of 8. Find out the standard deviation for the following frequency
an Inde?( r.mmber? Describe any one of them in detail, distribution.
clearly indicating its relevapce. 5+5 Value(x) Frequency (3)
4. On the basis of the criteria for a good measure of central 0-5 2
tendency compare between mean, median and mode. 5-10 5
Give two examples where median or mode rather than A.M. ‘ -
would be a proper form of average. 7+3 | ' 10-15 7
Group B i a
. 20-25 21
WEr any two out i : = '
| y ut of four questions : 5x2=10 25-30 16
5. Denye the regression equation of y on x and x ony. 30-35 8
6. g:t;struct Fishers’ ideal index number for the following 35-40 3
Commodity 1960 1968 Group C
(Base Year) (Current year)
Price Quantity | Price | Quantity Answer any five out of ten questions : 2x5=10
A 3 6 D) 5 9. The lines of regression are y = x + 5 and 16x = 9y — 94.
S . K " The variance of y is 16. Find the variance of x and the
5 11 6 covariance of x & y.
C 7 8 8 S5

- 10. Define an ofine. State its different uses.
7. What d by fertility in vital statistics? Indicate L .
bﬂ:hy zjé%?erl::e:;as}:n:s o;tyfelzﬂ\i’lty. : 11. What are the different uses of cost of living Index?

12. The AM of a variable x is 100. Find the mean of the
variable 5x — 10.
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13.
14.
15.
16
17.

18.

(4)

Prove that r2 = byx . bxy.

What do you mean by trend in time series analysis?
What is Gini Co-efficient of inequality measurement?

What is scatter diagram?

Express central moments (upto 3rd order) in terms of raw
moments.

Define co-efficient of variation? Why is it used?
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C 7 8 8 5
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10-15 7
15-20 13
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25-30 16
30-35 8
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